SAE jE=#esk

WFS SAE 90° Z5i%=$£3L(1S06162-1/-2) — EO 24° & #E

L4
LS L4
St
< 8 I— —
[a]
il o &
e}
W8 LA
] 2
fr— A_L»
@D1
@ D1
6000 PSI %3l
RERSH D1 24 g T AR (bar)
SAE I1SO (54M)
(in) | (DN) D3 | D4 | L1 |L2 [L3 |L4|L5|[S1][S2| (2#) (ZEHI) T/t iTHES* CF | 71
12 | 13 [12S | 12 [31.8| 50 |42.5| 7.7| 44 |58.5| 22 | 24 | M 8x30 |5/16x11/4| 0.37 WFS62/12S 420420
172 | 13 [14S | 12 [31.8| 50 |42.0| 7.7| 44 |59.5| 22 | 27 | M 8x30 |5/16x11/4| 0.39 WFS62/14S 420|420
172 | 13 [16S | 12 [31.8| 38 |29.5| 7.7| 39 |48.0| 24 | 30 | M 8x30 |5/16x11/4| 0.49 WFS62/16S 420|420
3/4 | 19 |16S| 17 |41.3| 45 |36.5| 8.7| 48 |55.0| 32 | 30 | M10x35 | 3/8x11/2| 0.92 WFS63/16S 420420
3/4 | 19 |20S |17 |41.3| 46 [35.5| 8.7| 48 |57.0| 32 | 36 | M10x35 | 3/8x11/2| 0.97 WFS63/20S 420400
3/4 | 19 |25S5| 17 |41.3| 48 [36.0| 8.7| 48 |60.0| 32 | 46 | M10x35 | 3/8x11/2| 1.19 WFS63/25S 420|400
1 25 |20S | 16 |47.6| 65 |54.5| 9.5| 62 |75.0| 34 | 36 | M12x45 |7/16x13/4| 1.69 WFS64/20S 420|400
1 25 |25S |20 |47.6| 53 |44.0| 9.5| 60 |65.0| 41 | 46 | M12x45 |7/16x13/4| 1.67 WFS64/25S 420|400
1 25 |30S |25 |47.6| 55 |41.5| 9.5| 60 |68.0| 41 | 50 | M12x45 |7/16x13/4| 1.63 WFS64/30S 420|400
11/4 | 32 |25S |25 |54.0| 64 [52.0|10.2| 55 [76.0| 42 | 46 | M12x45 [7/16x11/2| 2.23 WFS65/255/12 | 420 | 400
11/4 | 32 |30S |30 |54.0| 58 [44.5/10.2| 68 [71.0| 46 | 50 | M12x45 [7/16x11/2| 2.20 WFS65/30S/12 | 420 | 400
11/4 | 32 |38S|30 |54.0| 61 [45.0|10.2| 68 [76.0| 46 | 60 | M12x45 [7/16x11/2| 2.39 WFS65/385/12 | 315|315
11/4 | 32 |258 |25 |54.0| 64 [52.0|10.2| 55 [76.0| 42 | 46 | M14x50 | 1/2x13/4| 2.23 WFS65/258 420|400
11/4 | 32 |30S |30 |54.0| 58 |44.5|10.2| 68 [71.0| 46 | 50 | M14x50 | 1/2x13/4| 2.20 WFS65/30S 420|400
11/4 | 32 |38S |30 |54.0| 61 [45.0/10.2| 68 [76.0| 46 | 60 | M14x50 | 1/2x13/4| 2.39 WFS65/38S 315|315
11/2 | 38 |30S |25 |63.5| 76 (63.5/12.5| 77 [90.0| 50 | 50 | M16x55 | 5/8x21/4| 2.38 WFS66/30S 420|400
11/2 | 38 |38S |32 |63.5| 72 (56.0/12.5| 76 [87.0| 50 | 60 | M16x55 | 5/8x21/4| 2.58 WFS66/38S 315|315
RXEHRFTSEEFRE, NFTUREEZITRABHME, ESRH3,
“ERERE AR R AT RS
ITHESER
[z FEALE il il 5l FRAEEE AL
Rty ULE=3%) aanriEz, aansriE=,
IR R OB Ehligie R OB E
RN, FooNineRiEsE CF WFS62/16SCFX WFS62/16SOMDCF  |WFS62/16SOMDCFU [ NBR
TEFM 71 WFS62/16S71X WFS62/16SOMD71 WFS62/16SOMD71U VIT
H16 FEERFEZAR 4100/CH



